


]
(i 7
s, <o

The paper in this book No. F370A

F 5
e P

b3
)

BNR R  A

o)
il
=
s
W
O
x
Q
=

M 7R

is made of 509 high grade rag stock
with a WATER RESISTING surface sizing.

10,465, em, h, ai. cM.

.9 gE

IONING
the distance
1 read 16.7, g
Slope Stake

Ya to 1
under .
at right.,

nce out from the side stake

N. Y.

.8 read 11.0,
and

ite 11 under ‘‘Cut or Fill”’

L N

5|6 7]8]

Distance out from Side or Shoulder Stake

Center Stake

FO-DHO
W WO

E STAKES FOR CROSS - SECTI!
y Width. Side Slopes 1 5

tal

ler ““Cut or Fill’’ and under

Pt

8013“6790
WD WD IO OO D O ©

09 09 49 07 00 €9 00 69 00 & 00 3 WF'e 00 & 00 0 00 OB 00 0n

DLEDRONDIDOON =N HID =0 vt H W b= B S AN 0 S i &3

28]

KEUFFEL & ESSER CO.,

Roadway of an
re below: opposite 7 und,

DISTANCES FROM SID!|
side stake at left. Also, o

Slope Stake

figu

'rom the

In the
f

55 0o [a

























i &

YOUn:

r:u

e, T ¢

| 647.4






















|

s :w!? \\J,rfl e ,W:[l!willlf - ,|H7|!r|

|
i
























































































e
ol
—
=
|
>
QU

peound cl






























































































P B
" »

TRIGONOMETRIC _FORMULA&
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iangle Oblique Triangles
Solution of Right Triangles

a b b
 Angle 4. sin = —,cos= —, lan= i,cot=—,:ec=£, cosec =
e o b a b

Required 5
4, B¢ un4=%=cot8.o=\/a’+52=a\/1+a—:

; a a?
A, B b| sind= 6—=cosB,b=\/(c+aiio—ai =c\j1—ﬂ—;

B, 0| B=90°—A,b=acotd, o= L e
sin 4,

4

B ¢| B=90"—4,a= btan A, c= -
cos A.
B.a b B=90°—4,a=c¢sind, db=ccos 4,
Solution of Oblique Triangles
Required asin B, = . asin 0
BN = = O 1806°—(4 + B), 0 = 7

g L e . _asinC
B e C sin B= = L0 = 180°—(4 + B), ¢ = e A

4, B e| A{B=180°—0,tan}(4~ B)= (e;é)_t;_‘gf (04—+—”’,

5 = 280 C
~ sin 4

o —
J=GT2+°,sin%A= S

siniB= Vr@—‘—‘%‘:‘:?ﬂ  0=180°—(A+B)

a+b+e
2

. besin 4

2= , area = /5(5—a) (5—5) (8—C)

area

a? sin B sin O
2sin 4

'REDUCTION TO HORIZONTAL

Hor dist: =Slope dista multiplied by the
eosine of (e vertical angle. Thus: slope distance =319.4 ft.
Veri. angle = 5° 10, From Table, Page IX. cos 5°10'=

.0959. Horizontal distance =319.4X.9950=2318.08 it.
Horizontal distance aiso = Slope distance minus slope
distance times (1--cosine of vertical angle). With the
same figures &s in the preceding example, the follow-
ing resuit is obtained. Cosine 5° 10'=.9959. 1—.9956=.0041.

iy 919.4% 0041-=1.31. 319.4—1.31=318.09 ft.
rise is known, the horizonta) distance is approximately:—the slope dist-
of the rise divided by twice the slope distance. Thus: rise=14 ft.,
Horizontal di 302.6— 142C14 500 6—0.92=302.28 t.
2 X 3026

area =
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